What is the difference between RSTP and STP?
For foundation purposes, you can refer to http://www.ietf.org/rfc/rfc4318.txt for RSTP.  The RFC 4318 will reference back to http://www.ietf.org/rfc/rfc1493.txt, RFC 1493 which defines STP.  STP referred to as 802.1d and RSTP is referred to as 802.1w.  

STP stands for Spanning Tree Protocol.  RSTP stands for Rapid Spanning Tree Protocol.

RSTP and STP are almost identical, and are compatible.  They are by definition different protocols.
RSTP calculates the same spanning tree, and uses the same algorithm and even

packet formats as STP. Both RSTP and STP calculate a tree of shortest paths

from the Root bridge, which is the bridge with lowest ID/priority. Each switch has a unique identifier (ID) and a configurable priority number; both of these numbers make up the Bridge Identification or BID. The BID is used to elect a root bridge based upon the lowest priority number; if this is a tie then the numerically lowest ID wins. Because it is next to impossible that two IDs will be the same (they are uniquely assigned), one switch should always be successfully elected as the root bridge with the switch that has the next lowest priority/cost acting as a secondary (backup) root bridge.  Bridge ID is the concatenation of bridge priority number and MAC address of the switch. The bridge priority number varies from 0 to 65535. The Switch with least administrative cost is selected as a Root Bridge.
The major difference between RSTP and STP is how they avoid temporary loops.

STP did it with a timer. RSTP coordinates between neighbors to turn on links more quickly after topology changes.

STP and RSTP use the same basic algorithm...the heart of algorithm is to calculate a tree

of shortest paths from a single point.  The resulting tree and data packet

forwarding path is the same in both (because it is the same algorithm). 
